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~XIst Wil RE 24 500, 0002 *4CH 2,000
-dLher 2XIOE 24 60,0002 *20CH 1,200
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SM: ANEEN T

i CHE 2Y(23LBB/S

o

=

ool QET M 2 (9l &8

2
I

_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 HwsZ
SdLE] JtA o ZEDE S RA2S
1,000,000 *23| 2,000
202 o1l 4,320 1,920 2,400
01 =Lfoid 4,320 1,920 2,400
OHTS A 248 U WX OH
60,0002 *3 #42 43| 2,880
OF2 CTHBER &4
60,0002 x4 +32 23] 1,440
01 YA 5,720 2,520 3,200
10 SAAEISAS 4,600 2,400 2,200
ORZAXE LA 2,008 *6% %252 « 122 3,600
OSHDA HIIX 2ARZ
2,0002 ¥50% *52 23] 1,000
12 JlERAD 1,120 120 1,000
OMOlE IIE AINE 20,0002 37} & 23] 120
OSHe 2 OGS & SHOIBK T4
30,0002 * 1024 23] 600
OSHDA BT AIAE
20,0002 102 *23] 400
QHCNB ANuEE 145,554 81,050 64,504
Im} 14,500
Al 131,054
207 AN Y] 10,890 0 10,890
02 &R 10,890 0 10,890
ORFID TAG 2 &I 1,6302+3,0002 4,890
OENUES 2 1,500 *4, 00004 6,000
401 ANEZHL20b 44,000 33,000 11,000
01 AZHb] 44,000 33,000 11,000
O MZOIEX &E M7 9,000,000 *14! 9,000
OFNA 2l2ee SA 9,000,000 *14! 9,000
OORIOINIEA 2T U ARA O
20,000,0002 * 14! 20,000
ORIPLI| HA QLM BA
6,000,0002! *14! 6,000
405 XA S 90,664 48,050 42,614
Im} 14,500
Al 76,164
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SM: ANEEN T
HE: CAB 2Y(2YLY/250E)
Ol QETNE 29 CLEE

SN (B) - MBEAY - B2 0f Ao Soe HRZ2

01 L ESFHSHI 61,664 19,050 42,614
OReolete)] 2¢l 30,000,000 ~1CH 30,000
OXtedM 2FH 2 1,350, 000& *2CH 2,700
Ood. e ¢ 2,482,000 *2CH 4,964
Oggal 82240 837 #+¢ 40,000& *35CH 1,400
OLEZ=AMZ MIF &L &I 2 22,600
-AEd FEAIE 2L 1,700, 000& *3H4 5,100
-elola dHAHIF 2 650,000& x 14 9,100
-4 stguaa 2 1,500,000 = 1CH 1,500
-SHAED 7Y 3,600
SPNEg 200, 000& *6IH 1,200
PRl 100, 0002 *24 4 2,400
AR AED 7Y 3,300
©EHA 200, 000& *8IH 1,600
° O Xt 100, 000& 8K 800
cItelA 150, 000& *6IH 900

02 S MTHI 29,000 29,000 0
O AMFL(012F) 10,000& *2,000& 20,000
mi 10,000
Al 10,000

OUXEXZ (X2 DVD) 7L (01)

30,000& *300& 9,000
mi 4,500
Al 4,500

SENSSEZ]H 29 24,900 0 24,900

201 LBet2AH| 24,900 0 24,900

03 SHAISHHI 24,900 0 24,900
OSHMF2t L SH2 & &AL 2,420
-9 H& 70,000& x3JH *23] 420
—AECNHUEAE T AP 10,000 =100 1,000
-EHES Y Hzn 2 2,000& *500% 1,000
O=SAna 24 2,460
-9 HE 70,000 *3IH *x23] 420
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A AEEM2
M CHD 29(2UBD/2502)
Col omeia So (SHe: &

SN CR(EH) - NRAY - BES 0l & 24 e BlnE2
-2ALZ 30,0003 *2Al 2++7H »23] 840
-SH&ES HAYRZ 450,000& x1CH*23] 900
-23Mz 7 3,000 *50H *23] 300
Ostus 24 20,020

30,0008 *2Al 2++ 102 X+ 165 +23] 19,200
~E A R 70,0002 x30 <23l 420
-2gNE 7 200,000 *23] 400
SANRUEH 2% 168,677 205,825 A37,148
il 25,000
Al 143,677
SAZRHE 2l 14,597 13,845 752
201 et 9,397 8,645 752
01 A2l 9,397 7,728 1,669
O1.gpragH| 9,397
—CNEBUE eS| 10,0008 * 128 1,200

1600021205 + 122 3,600
“EABUARE PY (RSN 55)
20,0002 635 +53| 600
-sl@dlc 2=y 100, 0008 %32+ A 300
—RoIBE)| Y45 X 7Y
2,000 +20004 400
—EEEA 7Y 99,0002 *52 495
-MYDIBYH ZETY(1004)
2,200 %2004 * 122 528
—sHs g 2,00024 *200} 400
~=AD| ¥ ZRIE EY Y
200,000% +3C4 +23] 1,200
~ZAMEX 2 (Ad) 18,7002 +38¢ A #1222 674
01 YBEH 5,200 5,200 0
10 BAMHEAI 4,600 4,600 0
OSHDAEIIT 2AHD
2, 0002 +502 x52 23| 1,000
OXEZARE 2HAIRIZ
2,002 *6% *252 + 122 3,600
12 BN 600 600 0
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S AEZAM2

MM CAD 29 (25U Z/25H02)

(
Sl SAEEHH 29

(il

SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SELFEEELEERE
30,0003 10 *23] 600
SAEEHH AMEES 106,440 139,050 A32,610
w 25,000
Al 81,440
207 S OHEH 20,540 35,400 A 14,860
02 &&HHE] 20,540 35,400 A 14,860
ORFID TAG =l 1,630& +8,000& 13,040
OEAMlizs #¢ 1,500& *5,0000H 7,500
405 KHeHE SHI 85,900 103,650 A17,750
w 25,000
Al 60,900
01 XA EEHSHI 35,900 3,650 32,250
OXItHEEE D 7L 24,000,000 = 1CH 24,000
OAMIt=7e 1,700,000& 7 M 11,900
02 SN 50,000 100,000 A 50,000
O=EMT7(012) 10,000& 5,000 50,000
i 25,000
Al 25,000
SA=ZstEz Y 29 47,640 52,930 A5,290
201 Lt 47,640 52,930 25,290
03 &Ar2gHl 47,640 52,930 A5,290
OSMuWA A 1,240
-9 A 70,0003 20 23| 280
223Mz 7 3,000& *100 23| 600
-ZALZ 30,0003 6 & *23| 360
Oelolthat =208 23 2AM=
30,0003 x4 Al 2tx12& 1,440
O=2stdx 24 9,880
-9 M 70,000& *2Jl x23] 280
A= 30,000 *2 Al 2+x163=+5JH BF+23] 9,600
O3 L II= SAHSA 21,120
—HALZ A 700,000& x12& 8,400
-HES MA 2,000 2502+ 12& 6,000

_19_




P AEE A2
M SN2 2 (232 /23H00=)
o2 THEBHEH 29 (Sl &

i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
-g 40t 70,0002 «80H A * 122 6,720
O AEIE 25 13,960
-EN 2 10,0002 *1,0005 10,000
-2ALE 70,0002 *4H %53 1,400
g4 70,0002 «4H A *23] 560
-ZEe ME 2,000 «500 2 *23) 2,000
SN2 2K 384,567 0 384,567
iml 64,500
Al 320,067
SN2 2g e 69,967 0 69,967
101 Q14 5,975 0 5,975
10 JIZH2Z2XUEES 5,975 0 5,975
OZ&xzaa BBRE EX0=2
33,5002 x 12 x150 5,025
O4UBE Iz 10,050, 0002 9. 45% 950
201 LEr2HH| 60,392 0 60,392
01 AtR22lH] 34,192 0 34,192
O1.LetL=H| 30,832
“EHD|I2ME PQ(E2, T2 L2 S)
15,0002 *20E * 122 3,600
—TAECADE(2RCIHEX 5E)
20,0002 *6E *63] 720
-2 2,000 «300H 600
-SIEX P 30,0002 28t A x 129 720
-HARE Y 100,000 »12& 1,200
“MEDIESERM 257 (1002)
2,200 *300H * 122 792
—2AD|, ZRIH EHRY
200,000 *2CH 23] 800
-ROIBHIEALL2 200,0002 122 2,400
—ED| QA 2R CH & 100,000 « 122 1,200
-HEE A 500,000 * 10 A *13] 500
-283 A 300,000 * 100 A *13] 300
-EHARY 1,500,000 122 18,000
O5. = &l 3,360
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SN NYENR
E: SN 2 (2UBY/250S)
o9 SHEHP 29 (5l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
SSHTAB ORI 22X 24
7,002 %23 %202+ 122 3,360
;2 B2 26,200 26,200
O1.2Z23LHA 26,200
SHSS L AR 1,000,000% 13l 1,000
-®II23 1,500,0002 122 18,000
g= 50,0002 %122 600
AT ABR 50,0002 %122 1,800
—OIEY 0l82 400,000+ 122 4,800
202 oft 1,200 0 1,200
01 =UHoIH 1,200 0 1,200
OHTTAZ A8 U X0
60,0002 x2% x52 +23] 1,200
01 YsrzaZ 2,400 0 2,400
10 BAMHEAI 2,400 0 2,400
OSHEAZ RBZAX 2AH)
2,002 *5% x202 » 128 2,400
SHEMD Aleets 314,600 0 314,600
I} 64,500
Al 250, 100
207 SRINEH] 17,800 0 17,800
Rl 17,800 0 17,800
ORFID AlAE P&y 1,63024%10,0002 16,300
OFFID 323t 2| 1,500 +1,00004 1,500
401 AlSHIL O] 28,000 0 28,000
01 AI&H] 28,000 0 28,000
OHE o SEYHX JAb  8,000,0002 %14 8,000
OF2 o 947 A2l HE
10,000, 0002 * 14! 10,000
OALIARIZ HE 10,000, 0002 * 14! 10,000
405 RAHFHSH] 268,800 0 268,800
I} 64,500
Al 204,300
01 HMUSBFHSY] 133,800 0 133,800
OMIt % EII7Y 70,000, 0002! 70,000
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SN NYENR
E: SN 2 (2UBY/250S)
o9 SHEHP 29 (5l &2
_ _ _ Muo
SA - H L SR(SH) - HRAMY - BS arey e HRE2
OXIhEEE D 2L 24,000, 0002 24,000
OSHEXHOIE 2 15,000, 00024 15,000
ORFID 2IC4D] 7Y 3,300, 0002 #2CH 6,600
OHEEH 7Y 1,350,002 * 10CH 13,500
O= Al 7 4,000,000 *1CH 4,000
OZARSI| 7Y 700, 00021 #1CH 700
02 SATY 135,000 0 135,000
SHEHZ THTL(012)
10,0002 *13,2002 132,000
] 63,000
Al 69,000
OCIXIZXHE (R AHE,00) 7 (0/2)
30,0002 %1005 3,000
D 1,500
Al 1,500
HHSSZUI (A SHB)(JIEHIIE 302,282 345,886 43,604
SHHI(AMZEHZ) 242,926 286,530 43,604
Zole2 oyl 162,306 209,546 A4T7,240
101 oIty 156,666 202,646 45,980
2 +¢ 3,769 8,473 A4,704
OZW2LLY(HYANE "TH'3) 3,769
-NZFQIDRAY 6,6828%1F*47A 2+ 122 3,769
03 FUZ Al 6,240 7,800 ~1,560
OF A %= 130,0002 18§ +122 1,560
OHAYE 13,0002 ¥32 122 4,680
04 DEREY 4,320 5,760 A1,440
OHAYE 120,0002 ¥32 122 4,320
05 YWESIHI 6,065 7,950 A~ 1,885
OHAYE 60,646,000 1.2/ 12 6,065
06 JHHXI At 10, 128 13,276 £3,148
OHABE 60,646,000 *16.7% 10, 128
07 o1ohB At 4,335 5,814 A1,479
OF A % 31,132,000 *12*17/360 1,471
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SN ANEEMZ
M HE2HAH (A ESAH2Z)(OIEH/IIE)
el olEHY|(AIZF =AM 2) (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OFRAZE 60,646,000& *17/360 2,864
08 JIEtEE = 121,809 153,573 A31,764
O&FgHXAA "= 31,132,000& x1H 31,182
OHEEZZE 90,677
== 1,684,600 *3E «12& 60,646
- 60,646,000& *0.95/12 4,802
-tEg 2,880
CHHS & 40,000 x3H * 123 1,440
CRUIE 20,0003 x6H 122 1,440
-A&EY 30,0003 *1H«12& 360
st =) P = 3,120
*25E 0| & 130,000 1H x 12 1,560
° 15~204 01 8t 80,000& x1H »12& 960
* 5~10& 0/t 50,000 x1&H~ 123 600
-AZ2te 2R+ 6,342 x3H +50A| 2H+ 128 11,416
-RE2RH 47,7753 «3H 52 7,453
204 HPEAH| 5,640 6,900 A 1,260
02 HsE2xl 5,640 6,900 21,260
OFYAAE XBLEHI('CHS )
155,000 1H x 122 1,860
OFAZE Hz=22H| 105,000 3 12 3,780
FNOIE2AY| 80,620 76,984 3,636
101 ol t| 74,020 69,784 4,236
09 RIAHAZZXE=S 74,020 69,784 4,236
OFAt&te|els 74,020
2= 29,0103 4 x3002 34,812
1G] 725,250 *4% x300% 8,703
-HEFOHYI 725,250 *4Z % 120% 3,482
-—wWEE LI 30,0003 »4H » 122 1,440
s 720
* Ui A 40,0003 x1H«12& 480
CRUIE 20,0003 *1H«12& 240
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ANEE M2
HY2AHUI (AZE = M2)(IIEHIIE
QIAAHI(AIE A 2)
S E O (EH) - MRAY - B s e
- o= T ° - (= (=3 =5 O:H{ﬂ,%
-AX < 29,0103 x4 20 2,321
=54 29,010& »4H »52 6,035
-AlZte 2R 5,440 4B 22 A| 2t+ 123 5,745
-ZAgaldl 80,0003 »4H »12& 3,840
—2HIta3 29,0103 x4 H x5 » 12 x50% 3,482
=JtHI 2 =] 50,0003 x4 H «12& 2,400
-l =4l 130, 000& x4 *23] 1,040
203 YRFL&H| 4,200 4,200 0
04 PN2ILRFLEY| 4,200 4,200 0
ORASAAD T (HR:202)
350,000& * 123 4,200
204 X AH| 2,400 3,000 A600
03 SZYR-H& =4 2,400 3,000 A600
OdAAR("CH"'Z) e &S
50,0003 1H«12& 600
OFAZE sl 50,0003 »3H «12& 1,800
JI2dHI(AEZ M) 59,356 59,356 0
A2 11,836 11,836 0
201 LBHEHH| 11,836 11,836 0
01 At=2teldl 10,300 10,300 0
O1. get==2H| 6,800
-2EA2E det=EH| 3,700,000& 3,700
228 daAEEH 3,100,000& 3,100
O5. =&l 3,500
-2EA2E =l 3,500,000& 3,500
02 =224l 1,536 1,536 0
O1.2223ILAA 1,536
-EA2E B=R= 1,536, 000& 1,536
HEFEAHL 47,520 47,520 0
202 Oidl 47,520 47,520 0
01 =Wobl 47,520 47,520 0
OFRISF=AHLI 20,0003 22 9 «12& 47,520
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